Pewenue ypasnenHut

CocraBuig
MepkysioBa HMpuna lleTtpoBHA
YUUTEJIb MaTEeMaTUKU

MEKOY «IIputoTHEHCKass MHOTOIIPOQPUIbHAA
TUMHa3UA»




3anofiHM NPONYCKK

cjaaraemMoe
cjgaraemMoe 10 10
CymMMa 40 25
YMeEHbIIaeMoe 37 49
BbIYHUTaeMoOe 17 20
Pa3HOCTH 35 39
MHOKUTE]b 12 11
MHOKHUTE]Ib 5 15
npouseedenue 30 99

oenumoe 48

oenumens 8 7

yacmuoe 9




OTBeThbI:

25;30;8
20;55;10
60;2:9
6;63:10

[lpoBepKa

KpuTepun oueHBaHuS:
12 yncen — «5»
11 yncen — «4»
10-74ncen — «3
6 Yncen — «2»




LndpoBon aouKTaHT.
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MpoBepka




npoBepkKa




YMeHbLuaemo Beluntaemo
e e

PasHocTb

(Y+10)-13=14
y+10 =14+13

Y+10 =27
y =27-10




